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. Find the PH of a solution prepared by dissolving 12.43 g of tris (FW
121.136) plué 4.67 g of tris hydrochloride (FW 157.597) in 1.00L of

water (10%).

If we add 12.0 ml of 1.00M HCI to the solution used in question 1,

what will be the new PH? (10%)

. Discuss the possible reasons of line broadening in the atomic

absorption spectroscopy (10%).

. Describe the principle of a Michelson Interferometer (10%).

. Define: PMT (photomultiplier tube) (10%).

. Describe the possible interference occured in the atomic absorption

spectroscopy (10%).

. Compare the 10n trap with the quadruple mass analyzer (10%).

. Define : Van Deemter equation (10%).

. A solution containing 0.40249 g of CoCl, X H,O was exhaustively

electrolyzed to deposit 0.09937 g of metallic cobalt on a platinum

cathode. Co** + 2e = Coy,

Calculate the number of moles of water per mole of cobalt in the

reagent. (The atomic weight of cobalt = 58.933)(10%).

10.Define: two-dimensional NMR (10%).
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